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kDivide and write remainder.

Name:
r N ( 4 R
40532 71963
934u3 80)2290 - 20865
97.612
+ 72193

60)540

Divide and write remainder.

28) 447

kDivide and write remainder.

3)749

\Divide and write remainder.

4)26

kDivide and write remainder.

6)18

kDivide and write remainder.

37
x 43
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Complete each pattern. Write what the rule is.
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3 3
13T , 3T y 1LI"

1 1
13' 3’ 13T , 3T , 137 ,

3

.
2 ]

There are two dlternating sequences here. Add

both.

Complete each pattern. Write what the rule is.

1
— 1
o

51.3 |U5.6

39.9

34.2

228

VARRIE:
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Name:

Ready to make equations? There is a missing equation in each box.
Circle the numbers once you find it!

AlG0er 2 Bl oo 28 38| Cles o7 65

Write the equation facts you found.

|

1

'+ 90 48 + 80 54 89 + | W 15 62
| 92 WD) 2s 20 18 39 2 19 9%
|

|97 80 77 29 27 79 97 92 79
: Find an Find an Find an

; addition fact. addition fact. addition fact.
I

|

; Equations:

I

1

|

1

________ A |30 + (47| = |77
B + | 21| =
C | 65| + =

Rewrite these in increasing order of length: | Can 968 be evenly divided by 87 Circle:
968 is evenly divisible by 8

956 dm, 1cm, 896
M- em. S7emm 968 is NOT evenly divisiole by 8
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Name:

Eric built a reading loft Mr. Marti g f of Justin reads very fast.

in his room. The floor of r.Viariinez made apot ot 1 sometimes he isn't sure

the loft was 6.2 feet tea at his restaurant. The what he has read, he

long and 6.3 feet wide. _ reads so fast. He can

What was the perimeter | Potholds 18 servings oftea. | reqd 55 pages in 0.2

of the loft? If each serving is 3 - oz. hours. How many pages
2 can he read in 3 hours?

how many ounces of tea

does the pot hold?

What number is halfway
between 11 and 30?7 511 8xY-= 4uy?2
- 295 + 278
6 1
8+4=____ | 828+791=
- 39
28=+7=
7km=—m 7X12= 2 3= 20
. +30
1cm =10 mm
b+3= %6 +7= 1 _
5cm= ____________mm
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Name:

Circle the smallest number-:

/HH63 - 72,749 = 97,2Q4,172,865
9,510456,183
2467,083
3,002
How many grams are in 3 kilograms?
10 X 2 = 9 X LI. =
- grams

Jacob has three dmes and one quarter. Write an equation to represent this:
He also has one other coin that is different
from the rest of his coins. How much could | The difference between nineteen and
he have? eight is eleven.
Hannah cannot open her Can 482 be evenly divided by 5? Circle:

locker. She knows that the
three numbers are: 4, 34, ) o
and 39, but she cannot 482 is NOT evenly divisible by 5
remember the order of the
numbers. How many
different combinations are
there? List ten of them.

482 is evenly divisible by 5

Circle the digit in the hundredths place.
951 - /42 =

857.68

955 - 199 =
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Name:
Qe 5 e =eldHoele5elexebe 33e77 exele =075 e-=
be/ o7
Use the pieces above to help you fill in the runaway math puzzle.
x[1([=1]9
= X |8 0
9l [= -
8| x =141]0 4
5 + 1 4 3= 2
6 2 1
91+(3]= =
8 3 3 22 3
7 + 6
X|6|=14]2
= 2
x|8[=]|5][6
Here is a pattern of letters:
$SSSSSSSSS... 2x2= | 0=2=

What letter will be the 32th term in the
pattern?

The letters D and O each
90 = 10 = 90 +9= have a line of symmetry.
- ——— Name another letter

between D and O that has a
line of symmetry.

word root brac can mean arm bracelet, brachial
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2 3¢ 36e7

S5 ebe5e=0ebelele5exe8e =e0UUeDelde(Dex

Use the pieces above to help you fill in the runaway math puzzle.

4 +19]=|5 3
X 41 +19|=
0 -
3| x|1 3 X =(1|8 9
2 7|+ =7
= 8
9 0) 1(1|=
9 1
5 4 0)
4 1
2| X =6 +
3
9| X =16|3 =
7
In the number 1,941,008,587, the digit 5 is
in what place? by 8= O x il =
Circle the greatest number:
65,174,628 8039 62,274 - 45,513 =

H03,679.158242 970,531
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Name:
90 is what percent of 1507 h rChonge to percents. ) [ Write the decimal number |
for:
% - twenty-seven thousandths
20 =
100
B =
100
88 =
100
6 =
10
9 =
100
Chonge%’roo 8 413
decimal 0.00B)0.0018'—I 75.371
' 514 .5
+ 8.2
\ J J U
" 64 is what percent of 1282 | [ | [ Change 13% to a decimal.
572811
526025
+ 969842
\_ J U J _J
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Draw a line fo match each problem with the same answer.

a A
60% of 70 )
J

\.

- N
78% of 150 ®

. )

(26% of50 | ®

® (4% of105s | [35%of 100

e o [70% of 50

3% of 100 | [15%of 80

Jo o (10% of 120

(
®(40%of85 | [(29% of 200

® (140% of 5

®(60%of95 | [43% of 100

N I I

e 86% of 50
85% of 40 ]] ° ° [ :
\\
a N 7 N
42649 Reduce g_g to its lowest 363
- 6245 + 84
—_— tferms.
\ J U \ _J
e N ([ e N
993 Change % to a mixed a4
7545 8
+ 318 number. 5
8
\ \ _J
" Find 8% of 210. " Write the decimal in words. |
M 10.6
7
6
7
+ 2
7
\. J U \ _J
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Name:
- A - N
90% of 60 = 35% of 680 =
22 60 = 090 x 60 = 2 4680 = 035 x 680 =
0.90 O.35
. 60 x 680
L J \ <
a B a N
12% of 25 = 55% of 580 =
£ x25=012x25 = 22 x 580 = 0,55 x 580 =
0. 12 0.955
. 25 X 580
\ J \ J
e N e N
80% of 660 = 22% of 30 =
L J \ S
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Name:

The Russian Revolution

began on November 7,

1917. Today the date is
celebrated as the Day
of Consent and
Reconciliation. On
November 7, 2024,
how many years wil
have passed since the
beginning of the
Russian Revolution?

There are 45 trucks in
the parking lot of the
Midtown Mall. Robert
thinks 18 of them are
ugly. What is the
probability that the
next person that gets
into a truck will get into
an ugly truck?

word root Viv can mean life

Megan is earning
money for her baseball
uniform by working on
Saturdays. One
Saturday she worked 3

hours at $6.53 per hour,

and the next Saturday
she worked 6 hours at
$5.68 per hour. How
much money did she
earn on the two
Saturdays together?

Consider a piece of
paper in the shape of
a paralelogram - any
parallelogram. How
can this piece of paper
be used to prove the
formula for the area of
a friangle?

MathWorksheets.com
Week of March 24

It takes 0.75 yards of
silk fo make 2 tfies. How
many yards of sk does
it fake to make 350
ties?

The student to teacher
ratio at the school built
by the Peace Corps
volunteers is 4:2. If
there are 13 teachers
in the school, how
many students are
there?

vivacious, vivid
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Name:

Each row, column, and box must have the numbers
1through 6. The first box is done.

1 4 215
6 5
2

3
6

Each row, column, and box must have 6 different pictures.

L 9

Pl 0

<10
||
(
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Name:

-

Hint: There are no duplico’re letters in the answer.

Can you guess the word? D n
BFGHIJKMNAQ

No duplicate letters can be used.

OIC|I|L|E

The letter D is in the word
and is in the correct spot.

VIENIN| 1

The letter A is in the word,
but A is not in that spot.

VWX Z

S H Let's check if you guessed correctly. Look across or
down to find the correct answer.

LREUSURELYEVJTEEERU
EVVRDLRRRSURVEYVTYF
RERDHARGJEPUEHURAIR
EYERREQYHUREEVYVVEV
EUDPVOEEMRLARY SOVYV
EEQRUZRDEPARTUYSRTR

ABCDEFGHTIJKL

A list of letters will be given that
have not been used. Good luckl

Hint: There are no duplicate letters in the answer.

T i €
T ] 7 [

BCDFGH KLOPQVWXY
Z

Hint: There are no duplicate letters in the answer.

Whe|L]1I]C
RIOIRE U~ D

HIKMQSVWXYZ

Let's check it you guessed correctly. Look diagonally
to find the correct answer. (DIAGONAL!)

Let's check if you guessed correctly. Look diagonally
to find the correct answer. (DIAGONAL!)

MUMTPSIUMDAUUYT
XTSITRTMEUOMPEK
PGLINMORPAPMPET
PXYEEUOAEUEJTPZ
JUTMBNTRIATEEPM
TTUMEUJEMPMELLJ
EUMEINNPZIUTTIR
FPIOMTAUSMPTTAM

IAOIUDHLRRPPTOLTATR
ONROMIUDRFRUDCIDRCP
AMIOBRICKOKJBODUTMB
CROCUPUDBUTNALBNQVN
ORORRNOAWGIUURIONCP
NRGAOUDOUDDDNAOCYRR
ZVNDJCPHOENBCDTQPOL
APKNRRABLDORILMDRLL
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Name:

Jessica Gavin Emily Hunter
Facts
Max is forty-four years older than Emily.
Hunter is five times as old as Jessica.
Amy is one year older than Max.
Jessica is seven years old.
Gavin is fifty-one years older than Jessica.

Emily is nineteen years older than Jessica.

How old is Jessica?

How old is Gavin?

How old is Emily?

How old is Hunter?

How old is Max?

How old is Amy?

What time is 13 hours after
3:00 am.?

84,641 - 32,526 =
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544 168 g3y 802 g9y

90 929 560 4rp 5g,

X T =
fol 688 183 4., -
I'. ‘—1!'%;";—::—!'"‘ 1945 .355

120 T270 7

| @19 @s2 313 @20 20@
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e
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I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




